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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Answer any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. “The debate on deindustrialization in nineteenth century
India needs to be broadened both in terms of issues

covered and the temporal scope”. Comment.
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2. “In spite of the fact that skill and knowledge possessed
by the Indian artisans and merchants were far closer
to those of their counterparts in Europe in the early
nineteenth century, Indian artisans and merchants did
not grow because of lack of state support.” How far
do you agree with this statement? Explain.
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what were the main causes of the rapid increaqe ;

the Indian population after 19219 1y, vou agr(‘:ﬁ m::
gumit Guha's contention that stable weatfer hwad ;'m
important role to play in it? Explain. .
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4. “Famine policy in British India was constrained not
by the lack of infrastructure, but by the notion of
what the country can bear.” Discuss.
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S. Examine the pattern of development of Railways in
India. In what way did it affect the growth of the

modern sector in the country?
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6. Discuss the impact of commerci .
gup of

agriculture, particularly in the period of openin
agriculture to international trade.
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What were the fundamental factors inhibiting a major
:ndustrial transformation in India in the colonial period?
Discuss with reference to the different views on this

subject.
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8. Critically examine Washbrook’s contention that - the
East India Company government in India, followed
very regressive economic strategies that hurt the
Indian economy and also failed to provide any benefits
to British (and Indian) business interests. And yet,
the British parliament did not deem it necessary to
stop the EIC, for quite rational reasons.
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